
 

 

 

 

 

 

 

  (15%)

( :kgCO2 / tCO2) 

 ( , ) 

(1)  (  ) 

(2)  ( ) 

(   ) 

(3)= (1)+ (2) 

(3)<=(4)  

( X + )X(1- )=

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 



 

=(A B C) 
X

XN 1 N 193 
1 0.5 

( ) N=495

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )
( C )  

( T )  

1 0 < X < 0 . 0 5  A=X/0.05 20 0 20 
2 0.05 X<0.2  A=(X-0.05)/0.15 128 20 148 
3 0.2 X<0.5  A=(X-0.2)/0.3 263 148 411 
4 0 . 5 X < 1  A=(X-0.5)/0.5 767 411 1178 
5 X 1  A=(X-1)/1 495 1178 1178 +XN 

 
( ) N=6

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )  
( C )

( T )  

1 0 < X <0. 05  A=X/0.05 0.1 0 0.1 
2 0.05 X<0.2  A=(X-0.05)/0.15 1.7 0.1 1.8 
3 0.2 X<0.5  A=(X-0.2)/0.3 3.2 1.8 5 
4 0 . 5 X < 1  A=(X-0.5)/0.5 9.3 5 14.3 
5 X 1  A=(X-1)/1 6 14.3 14.3 +XN 

 
( ) N=150 

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )  
( C )  

( T )

1 0 < X < 0 . 05  A=X/0.05 2.5 0 2.5 
2 0.05 X<0.2  A=(X-0.05)/0.15 42.5 2.5 45 
3 0.2 X<0.5  A=(X-0.2)/0.3 79 45 124 
4 0 . 5 X < 1  A=(X-0.5)/0.5 233 124 357 
5 X 1  A=(X-1)/1 150 357 357 +XN 

 
( ) N=18

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )  
( C )  

( T )

1 0 < X < 0. 05  A=X/0.05 0.3 0 0.3 
2 0.05 X<0.2  A=(X-0.05)/0.15 5.1 0.3 5.4 
3 0.2 X<0.5  A=(X-0.2)/0.3 9.3 5.4 14.7
4 0 . 5 X < 1  A=(X-0.5)/0.5 27.6 14.7 42.3
5 X 1  A=(X-1)/1 18 42.3 42.3 +XN 

 
( ) N=64 

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )  
( C )  

( T )

1 0 < X < 0 . 05  A=X/0.05 1.1 0 1.1 
2 0.05 X<0.2  A=(X-0.05)/0.15 17.9 1.1 19 
3 0.2 X<0.5  A=(X-0.2)/0.3 34 19 53 
4 0 . 5 X < 1  A=(X-0.5)/0.5 99 53 152 
5 X 1  A=(X-1)/1 64 152 152 +XN 

( / ) N=193 

 
 

( )  ( % )  
( A )  

( T )  
( B )  

( T )  
( C )  

( T )

1 0 < X < 0 . 05  A=X/0.05 8 0 8 
2 0.05 X<0.2  A=(X-0.05)/0.15 50 8 58 
3 0.2 X<0.5  A=(X-0.2)/0.3 102 58 160 
4 0 . 5 X < 1  A=(X-0.5)/0.5 299 160 459 
5 X 1  A=(X-1)/1 193 459 459 +XN 



 

 

114 2025 15%

115 2026 16%

116 2027 17%

117 2028 18%

118 2029 19%

119 2030 20%

120 2031 22%

121 2032 24%

122 2033 26%

123 2034 28%

124 2035 30%

125 2036 34%

126 2037 38%

127 2038 42%

128 2039 46%

129 2040 50%



< > 

 

 

 

 

 

  

  (15%)

( :kgCO2 / tCO2) 

0.99  

(1)  (  ) 

10 =-250.83*10=-2508.3kgCO2e 

(2)  ( ) 

(   ) 

    

 0.6m*1m*1m 128.7 kgCO2e (0.6*1*1)*128.7 =77.22 

 L=4.5m 233.43 kgCO2e (4.5m)*233.43 =1050.44 

 2m*1m*1m 146.35 kgCO2e (2m*1m*1m)*146.35 =292.7 

 H=3,L=130m 1048.23 kgCO2e (3m*130m)*1048.23 =408809.7 
   410230.1 kgCO2e 

(3)= (1)+ (2) 

-2508.3kgCO2e + 416776.23 kgCO2e = 414267.93kgCO2e =414.27 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(767*( 0.99-0.5 /0.5)+411)*85%=988.26 tCO2e/ha =  

414.27 tCO2e < 988.26 tCO2e/ha ok!  

! 988,261 kgCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 



< > 

 

 

 

 

 

 

  

  (15%)

( :kgCO2 / tCO2) 

0.304566  

(1)  (  ) 

 

(2)  ( ) 

(   ) 

 
   

 

L199m*(2.7m

2.3m)*0.4m 
128.7 kgCO2e 

((199*(0.4+2.3+0.4))

*0.2)*128.7 
=15879.01 

 2.7m m m 128.7 kgCO2e (2.7*0.8*0.4)*128.7 =111.20 

 2.7m m m 128.7 kgCO2e (2.7*0.8*0.4)*128.7 =111.20 
   14101.4 kgCO2e 

(3)= (1)+ (2) 

0 + 14101.4 kgCO2e = 14101.4kgCO2e =14.1014 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(3.2*((0.304566-0.2)/0.3)*3.2+1.8)*85%=4.56 tCO2e/ha =  

14.1014 tCO2e > 4.56 tCO2e/ha NG!  

! 4.56 kgCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 



< > 

 

 

 

 

 

 

  

  (15%)

( :kgCO2 / tCO2) 

1.243  

(1)  (  ) 

(2)  ( ) 

(   ) 

    

 
58m m

m 
128.7 kgCO2e 

(58*4.5*2)*0.2*12

8.7 
=13436.28 

 
45m m

4m 
233.43 kgCO2e 

(45*16*0.4)*0.2*2

33.43 
=13445.568 

    

    
   26881.9 kgCO2e 

(3)= (1)+ (2) 

0 + 26881.9 kgCO2e = 26881.9 kgCO2e =26.88 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(150*((1.243-1)/1)+357)*85%=334.43 tCO2e/ha =  

26.88 tCO2e < 334.43 tCO2e/ha ok!  

! 334.43 tCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 



< > 

 

 

 

 

 

  

  (15%)

( :kgCO2 / tCO2) 

1.1843  

(1)  (  ) 

(2)  ( ) 

(   ) 

    

DP1 
36.6 0.75

m 
128.7 kgCO2e (36.6*0.75)*128.7 =3532.815 

DP2 
36.6 0.75

m 

128.7 kgCO2e 
(36.6*0.75)*128.7 =3532.815 

PVC P1 L=2.1m 24.31 kgCO2e 2.1*24.31 =51.05 

    
   7116.68 kgCO2e 

(3)= (1)+ (2) 

0 + 7116.68 kgCO2e = 7116.68 kgCO2e =7.116 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(18*((1.1843-1)/1)+42.3)*85%=38.77 tCO2e/ha =  

7.116 tCO2e < 38.77 tCO2e/ha  ok!  

! 38.77 tCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 
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  (15%)

( :kgCO2 / tCO2) 

0.709202  

(1)  (  ) 

0 

(2)  ( ) 

(   ) 

    

 
L=50m*(0.6

m*1m*1m) 
128.7 kgCO2e 

50*(0.6*1*1)*128.

7 
=3861.00 

 L=6m 233.43 kgCO2e (6m)*233.43 =1400.58 

    

    
   5261.58 kgCO2e 

(3)= (1)+ (2) 

0 + 1477.58 kgCO2e = 5261.58 kgCO2e = 5.26158 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(99*((0.709202-0.5)/0.5)+53)*85%=80.26 tCO2e/ha =  

5.26158 tCO2e < 80.26 tCO2e/ha ok!  

! 80.26 tCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 
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  (15%)

( :kgCO2 / tCO2) 

3.114936  

(1)  (  ) 

(2)  ( ) 

(   ) 

    

 
653m*0.5m*

0.65 
128.7 kgCO2e 

653*1*0.5*0.65*12

8.7 
=27313.36 

5  
0.8m m

1m 
233.43 kgCO2e 

 5*(0.8*0.8)*146.

35 
=468.32 

    

    
   27781.68 kgCO2e 

(3)= (1)+ (2) 

0+27781.68 kgCO2e  =27.78 tCO2e 

(3)<=(4)  

( X + )X(1- )=

(193*((3.114936-1)/1)+459)*85%=737.10 tCO2e/ha =  

27.78 tCO2e < 737.10 tCO2e/ha ok!  

! 737.10 tCO2e/ha 

 

 

_________________________(  

1  

 

2  
 

3   

4  ( ) 


